Equations with Unknowns on Both Sides

— REVISE THIS
TOPIC

1 Solve 6x+ 10=2x+18 [3 marks]
L bX 10 = D 1Ry

—‘D(;tl-)(-ﬂo - ‘g ;)-'lo

oo =8 1L,
+a x_-‘-?,D

2
2 Solve 5y +5=2y+20 [3 marks]
2y S5¢9+5° 23+7.0 Y-
_c C’Sa +S = 20 )-s

3 Solve 7w-—1=4w+ 20 [3 marks]
~4w (] 7\0-\ 1LP\0+20)-@w
4\ (;"SW"\ = lo ;)+I
23 ( 3w = Al BEX:
w=+

- +
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Solve 9a-—-4=5a+ 32

[3 marks]

50 ( da- b = Sa+ 3L )-s5e.
4 CL\'q - = 32 )
ba = 26
9
Solve 4b—3=3b+27 [3 marks]
-3b LHD"l: b+ 27 ) 3b
4‘5C b-3 = JF )3

b:-30
b= 30
6 Solve 10c+1=3c+8 [3 marks]
3 ( 10c+1 =3 +8 -3¢
~\ C:I'(,-l-l = 9 -t
F =3
l

Solve 5d+15=2d+9

[3 marks]

24 ( Sd+15=2d +4 3-2
-\SC3A+\S‘-q )—ls
4 =-6

o= -1
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8 Solve 59 +17=3g+7 [3 marks]

“35 D+ 1T =3g +F )-1,
“"'(. 25 +\?F =+ D-\?
23 = -10

g= _S

9 Solve 6h-18=3h-3 [3 marks]

-3 ( 6"\"%: 3\'\"3‘)_%
W3- th-18=-3 )
3h =\S

= S

10 Solve 5p-34=2p-4 [3 marks]

-2 5 ‘3L\’:1P"l‘"‘ -2
_(:,5(;(. 3@—%’-\‘ = -4 )j-)strp
3p =3%0

p: \O

11 Solve 5k +20=8k-7 [3 marks]

a
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_gk(; %k—’-} = Sk +20 ;)-su
H—C Sk-7 =20 ;)-\‘-!-
-
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15

Solve 3r+30=7r+6 [3 marks]

w( Fe+6=23r+30 Y-tr
-b L\-r+6=30 -6
C )
Lr = %

- G
Solve 2m—-30=9m -2 [3 marks]
-?,MC qW\‘l:ZM-“so )-ZM
s Im -1 = -30 )z
¢ Im = -1%

m = - q"
Solve 3n+4=24-2n [3 marks]
A2n C 3n 44 = W -2n ;).‘.2“
u ( Sn+lk = L4 ) -
Sw =10

Y
Solve 4t—8=40 - 4t [3 marks]
-M—,C l‘\'t"g :'L|'0 "'q"t ;)N'b
48 C%E '8 = lk() ;)-ra
gt = &}

6
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16 Solve X+7=5x-3 [3 marks]
—:c(; Sx - 4= x +3 D-x
Yx = O

X = 25
17 Solve 4(y +3)=2(y +10) [3 marks]
-2y ( (4-3 +12 = 7.3-\'20 -2y
e 2,3-\-\1 = 70 )
%y = %
s

18 Solve 5(@a-5)=2(a+1) [3 marks]
-2&(; SG.").S:’ZQ +?— D-Za
+25.( d3a.-15 =12 )a1s
3a-27

4
19 Solve 2(b+5)=7(b+ 10) [3 marks]
- (. 4b +30 =1 lD )t
0 ( Sb+30 =10 Y-
Sb =-60

b= -1
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